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ysing Trigonometry to Find Angle Measures Date_ Period
P pind each angle measure to the nearest degree,
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Find the measure of the indicated angle to the nearest degree.
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2. Solve for the side x. (Round all final answers to numt tenth)
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3. Solve for the missing information. (Round all final answers to nearest Integer)
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Sine & Cosine of Complementary Angles

Name
Directions: Be sure to show your work.

" 1. a) Explain why sin(x) = cos(90 - x) when x represents an acute angle.
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b) Is it ever possible that sin(x) = cos(x) ? Explain your answer. iB8 Lo U(t’;‘r\@l\j
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2. Inright AMBC, meC=90°, ifsind =m, findcos B <77 . peh
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3. Solve for & (angles are acute):
a) cos60°=sin§ AO°

b) sin71°=cos8 | Q°

¢) sin @=cos (6 +20) 550
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d) sin(@-60)=cos8 TS
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4. Given right triangle 4BC with right angle C, and sin 4 = y Which of the following expressions are
also equal to % 9 Select all that apply.

1. cos(4)
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4. cos(90° - B)

5. sin(B)
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problem at the right, students responded with

ing to solve for x in the .
5. In attempting 10 8 of the fO"OWins quluon’ are con'eCt?

a variety of equations. Which, if any,
Select all that apply.
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1. sind9°=—
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6. None are true.

6. In right AABC, m2C = 90°, cos A = % What is sin B2
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7. In right AABC, m<£C = 90°. Simplify the following expression: sind—cos®
SinA=s® o by substiftdion we Nave SWA—SinA O o
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8. Given that sin (x + 10)° = cos (3x + 20)°, find the number of degrees in the acute angles of the
corresponding right triangle.
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9. Inright AABC,msC=90%sin4d=3x-0.6and cos B=4x-0.9. Findx.
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10. Inright AABC, m«.C = 90° and m£A does not equal the m<£B. If sin 4 = m and cos 4 = &,
express the value of cos B + sin B.
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